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Questions no. 1 - 14 are of 2 marks each and are to be answered in about
30 words each.

Questions no. 15 - 21 are of 4 marks each and are to be answered in about
80 words each.

Questions no. 22 — 24 are of 6 marks each and are to be answered in about
200 words each.

Question no. 25 carries 6 marks, and is to be answered with the help of
the passage given.

ST T T AT & ? |

What is meant by globalisation ?

sfirell vrTedl % W o 3 Afgen wedi % T fafey |

Oth

Name two women organizations from the early 20" century.

TSI A9 =1 8 2

What is social exclusion ?
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Bk (BT R fopam (fisie) # it Taw A |

Differentiate between a farmer and a peasant.

WH-AR 1 =1 qE o7 ?

What was the importance of ‘silk route’ ?

ﬁqﬁﬁm(ﬂﬁ%ﬂ)awﬁwﬁm(ﬂﬁaﬁm)ﬁaﬁmmﬁml

Explain the difference between patriliny and patrilocal.

A ATfeaTTad & Treag e g 1 8 2

What are the major issues of concern for adivasis today ?

T8t 9 T T ST w2

Why is it difficult to define the nations ?

FIE IEE — FF TG 1 GHITES THR — Th GHISS TE1 768 ThR B 2

In what ways is a market — such as a weekly village market — a social

institution ?

Fiife e %1 S faswa = R 2

What is the unique feature of corporate culture ?

TEHIT I16g I T 9 7 ?

What does the term culture refer to ?

efireheRtor 1 =T a8 2

What is meant by Industrialization ?

P. 0.
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3= I U sifaat aur e s fusdh sfeei & o Stemmand 2 2

What are the disparities between upper OBC’s and lower OBC’s ?

amTies TS (Tafaet Tramsdt) @meat st 311 @R STEfehdr B 2

What is the relevance of civil society organizations today ?

w%qﬁmmﬁwmaﬁm%‘ﬁm
e
feReri 1 StTegesti i SMunh T ﬂﬁwﬁz)aﬁwm%o

Explain the concept of circulation of labour.

OR

Why are farmers’ suicides called a matrix event ?

“Tefim fram stieem” ht = faemward off 2
AT
AITUC W T Hige feoqoft fefan |

What were the features of “New farmers’ movement” ?

OR
Write a short note on AITUC.

FAG UES H ACHBA § HEG Hd §¢ oM qAT FERAI W TH HiEH

fooqoft ferfiau |

Write a short note on gender and sanskritisation by relating it to Kumud

Pawade’s autobiography.

wﬁ%ﬁw%mmmwmmnﬁﬁmwmmam

JSfiarg T et nfiss o & T 2

How did Nation states become the dominant political form and capitalism

a dominant economic system during colonialism ?
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JUAYETE 3 AFHA o §1g WA Feawy foha wqi # qRafad g3 ?

In what ways did the Indian economy change after the coming of
colonialism ?

ﬁaﬁwﬁam%g%%,ﬁﬂaﬂﬁsﬁawwﬁaaﬁw@% | 38
Y T =TE FIRT |

Federal systeni has worked fairly well, though there are some debatable
issues. Explain the statement.

Wl I Sfadt < e fopg o1 | Sfa STuTioss €9 @ g ' R B 2
In what sense has caste become relatively ‘invisible’ for the urban upper

castes ?

TTEd TS A A T GHID E 2 THE WEA T TS w6 aRH
BT, TSR AR HETeHT et o= deh fou o ?

What do you mean by Panchayati Raj ? What were the arguments given
by Dr. Ambedkar and by Mahatma Gandhi for constituting local

government ?

MR- 3um 3 fowr ug @ gitedql 1 ww Shifv |
HAYAT
MY SH-HIR o IRH & IR H T feoquft foafam |
Explain the changes that have been seen in the newspaper industry.

OR
Write a note on the beginning of modern mass media.

AT eEH 1 8§ 2 I fogeyd (Yermawe) @ ot i IR fohm o &
T 8 2

What is Scientific Management ? How does it lead to a situation of
alienation ?

5 _ P.T.O.
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freferfed srg=sg = ufeu 3R 1@ T gei % I 4T

frost Tl auf & t figd wRd™ 759 6 W & g9 g gIfaar (LE)
T 15 99 W TS €, JEh T HAHa WA TR =R ek qo sl ST 37
18 98 § 3fere Sfifaq @l 2 |

foga it SeE H oy F G9EET 1970 F 9 W a9 F Afes 5g W R A
gt & wmet § 1970 # 56.4 @ ot 3 2010 # 67-5 o qur ferEt % A A
612 9 & 733 99 | TH 3fEa AR TE9 3R St I LE A 63-2 99 a1
6759 2 |

TGS, THER TTTE THAT 3 S THHIA Hierdl, Ted H 8 a1 FEISIE B 20d
Hife T sdequed (IHME) & woifie Siee §, st arfdmen gfafdid & 2,
%8 2 FPLE § wra it ywrasel 3ig 1 T 99 FR0 @ T 9 S=1t h
T H i 3R WG § gogel # B | G TS e a91 3% A UG
%I LE I GUTH § 3% o o 7 | Ifg wRa 1wt rmardt % derg ded H
FHH A "eh, I ThAM g H FHHl &A1 Feh a9 TR Tiafafri § gig % gr
Hrerd & HHt o W, qf S 9@ S LE 3R atfaes aeft & s | |

gid : 17 21377 3% 367, 15 lRaew, 2012
(i) Y wuTierar 1 a7 37F 7 7
(i) WRd ® g "ufern ® gig 1 TUH RO F R 2 T AFd WA A

g wutferan § iR e iy @M & gaa T |

Read the passage and answer the following questions :

An average Indian man’s life expectancy (LE) at birth has increased by .
nearly 15 years in the last 40 years, while an average Indian woman is

living over 18 years longer than what she did four decades ago.

The world population’s lifespan has gained more than a decade since
1970 from 56-4 years in 1970 to 67-5 years in 2010 for an average male
and from 61-2 years to 73-3 years for a woman. An average Indian man

and woman’s LE is 63-2 years and 67-5 years, respectively.
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Author, Professor Majid Ezzati of Imperial College, London and Associate
Professor at the IHME (Institute for Health Metrics and Evaluation) at
the University of Washington, said that one of the main reasons behind
India's impressive gain in LE has been the reduction in numbers of child
mortality and low mortality among young adults. The US and several
other countries have taken decades to improve LE. If India manages to
cut down its tobacco consumption, lower high blood pressure rates in its
population and increase physical activity thereby cutting down obesity

rates, increase in LE of an average Indian will increase faster.

Source : The Times of India, December 15, 2012

1) What is meant by life expectancy ?

(ii) What is the main reason behind increase in the life expectancy in
India ? Give suggestions which can further help in increasing the

life expectancy of an average Indian.
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